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1 byte

AR BOER S HEX R, VR4 T
fih: 1byte,
PrEBIEEALMITL, MATEA Ay 0xFA;

&3l
R R L 4 A SR — e, R0l LLA B o #l,
0-3° NHE—H, 5N 0xA0;
356-359° N—REMHE 8 , K5N 0xF9;
. 2bytes,
THEE speed K /5r8h (RPMD SNHAL, HAlE N 16bits & R
HA & 6bits A/NEERS, AR 2 EOIMAS T, Stk speed[7:0], FifLH speed[15:8];
il 16bytes, WE 4 MNSMEEE distance[13:0] fIGRE (5 E strength[15:0],
im0 NEE i R,
s 1 N i+l mEUE,
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A SN Abytes, fEHINT N BYTEO->BYTES;
BYTEO = distancel[7:0];

BYTE1

{f1ag0, flagl, distance[13:8]};HH
flag0: 1bit, A ‘17 FoRPEESHE LA
flagl: 1bit, 2y ‘1" TR E R,
BYTE2 = strength[7:0];

BYTE3

strength[15:8];
BRI 2bytes,

XA 20bytes K6, R4 checksum[15:0], JeALHifAr,

BEARMT:
chk32 = 32’ d0;
chkl16 = 16’ d0;

for (i=0;i<10;i=i+1)

chk32 = (chk32 << 1) + (mem[2%i+1]<<8 + mem[2%i]) ;

chk16 = (chk32 & 16" h7fff) + (chk32 >> 15);
chk16 = chk16 & 16" h7fff;
checksum = chkl6 ;
Hr mem FAEHREIREHT 20 FATHIE.
AT
angle = 0; //fJEZHN 0-3
distance = {1’b0, 1’ b0, 14’ d5000} ;
streng = 16’ d1024;
speed = 16’ d20832; //5.425rad/sa325. 5RPM->%E ¢ s %1
UEvE/ I

FA A0 60 51 88 13 00 04 88 13 00 04 88 13 00 04 88 13 00 04 93 23
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